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Rivet 3.1.10, = 2.1M events

I III|IIII|||||_uIII| I IIIIIII| I IIIIIII| I IIIIIII| I II{%IIIL I IIIIIII| [

|
S0 S\ —
--0-- Pythia 6.428 396"~ =
--81-- Pythia 6.428 391 =Ny .
-4 -- Pythia 6.428 392 NN -
-~-- Pythia 6.428 396 BENRNN —
--+-- Pythia 6.428 397 NN =
--¥-- Pythia 6.428 398 .
| | | ' | | | | | |E
T T T T | T T T |:
I _]
;L _
' ‘/‘/./.'-_-L p—
e |
— %\w ,/_;/-"'// (T? ]
- %{* ST T T ! il
7 AN Wi L =
i 1° \\C~¥_ - i
— R, A~ ~ il T —
%/ AN o B "_',‘—“‘"‘--———-—_—'—Z‘_‘_‘_-_’¥
|# . 1 1 hY JI- a--" 1 | 1 . I 1 1

N



	Contents
	Page 1


